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Round II Reading Comprehension
Directions:
In this test you will read four texts. Each text is followed by different tasks. You should do the tasks that follow the text on the basis of what is stated or implied in the text. For each task you will choose the best possible answer, as specified prior to each text. Choose the best answer and circle the letter of your choice on the answer sheet.
Text 1 From “The Shallows: How the Internet Is Changing the Way We Read, Think, and Remember” by Nicholas Carr

The Dutch humanist Desiderius Erasmus, in his 1512 textbook De Copia, stressed the connection between memory and reading. He urged the students to annotate their books, using “an appropriate little sign” to mark “occurrences of striking words, archaic or novel diction, brilliant flashes of style, adages, examples, and pithy remarks worth memorizing.” He also suggested that every student and teacher keep a notebook, organized by subject, “so that whenever he lights on anything worth nothing down, he may write it in the appropriate section.” Transcribing the excerpts in longhand, and rehearsing them regularly, would help ensure that they remained fixed in the mind. The passages were to be viewed as “kinds of flowers”, which, plucked from the pages of books, could be preserved in the pages of memory.
Erasmus, who as a schoolboy had memorized great swathes of classical literature, including the complete works of the poet Horace and the playwright Terence, was not recommending memorization for memorization’s sake or as a rote exercise for retaining facts. To him memorizing was far more than a means of storage. It was the first step in a process that led to a deeper and more personal understanding of one’s reading. He believed, as the classical historian Erika Rummel explains, that a person should “digest or internalize what he learns and reflect rather than slavishly reproduce the desirable qualities of the model author.” Far from being a mechanical mindless process, Erasmus’s brand of memorization engaged the mind fully. It required, Rummel writes, “creativeness and judgment.”

For questions 1-5, choose the answer (A, B, C or D) which you think fits best according to the text.

1. Which of the following did Erasmus not offer people advice on?
	A. How to remember more clearly.
	B. How to memorize better.
	C. How to annotate their books.
	D. How to organize subjects.

2. Erasmus encouraged people to do the following to books they were reading:
	A. Make notes at interesting parts.
	B. Make connections between memory and reading.
	C. Memorize them entirely.
	D. Clean them often.


3. For Erasmus, memorizing text was:
	A. A mechanical process.
	B. A way to keep a notebook.
	C. A deeper understanding and relationship to the text.
	D. A means of storing vast amounts of information about a topic.


4. What is meant by “memorization for memorization’s sake?”
	A. For no other purpose but to recall material.
	B. Contributing to a deeper understanding of the text.
	C. The process of analysis.
	D. To better retain his memorization notebook.

5. Which best describes Erasmus’ view of memory:
	A. A way to remember important dates and quotes.
	B. A part in the process of understanding something.
	C. A way to read better.
	D. A mechanical, mindless process.

Text 2 Information Society

Once upon a time societies were organised on the base of religion, farming, trade or industry. In many parts of the world today this is still true, but something else is becoming more important — the exchange of information, and the technologies that we use to do this. Twenty-four-hour news, e-commerce, international call centres, mobile phones, Global Positioning Systems... all these are making the world smaller and faster.
But how can everybody in the world share the recent technological advances? Millions of people cannot read these words because they don't have access to a computer. They don't understand English either, the language that 80 % of the information is written in. They don't even have a telephone. They are more worried about how far they will have to walk today to get clean water or if they can feed themselves and their families. For most people on this planet, information is not a priority.
The contrast between the countries that have information technology and those that don't is called the «digital divide». Scandinavia and South-East Asia have a high number of people who use Information Communication Technologies (ICT). Central Africa and the Pacific have almost none.
The United Nations is trying to make the information society a reality for most of the developing world. This organisation wants to see rich countries transfer new technology and knowledge to poorer nations.
Ten years from now, the plan is that everybody in the world will have a radio or television and that 50 % of the world's population will have access to the Internet from schools and universities, health centres and hospitals, libraries and museums. This will improve medical care and education, science and agriculture, business opportunities and employment. At the same time, they say, local communities, languages and cultures will become stronger.
Just a dream? Certainly there are some contradictions. Does only good come with freedom of information? If information is power, why will people share it? Doesn't more technology mean fewer jobs? And how can the exchange of information keep local cultures alive if most of that information exists only in one language?
It is much easier to get people connected to broadband or put government online in Europe than in South America or the Middle East. However, developing countries often leapfrog the process which richer nations went through, and avoid their mistakes. Brazil collects most of its taxes online these days. There are cyber cities in Dubai and Mauritius. And Taiwan and Hong Kong have better access to ICT than the United Kingdom. Maybe the English language isn't so important after all.
Can the world create an information society for all? If a farmer in Bangladesh can read this in the year 2015, then maybe the answer is «yes».

For questions (6—10) choose the correct answer (A, B, C or D).    
6.   The main idea of the text is that
A. everybody in the world shares the recent technological advances.
B. the exchange of information and technology development are extremely important for today's world. 
C. many years ago societies didn't need the exchange of information.
D. many people cannot read because they don't have access to a computer.

7.   For many people in developing countries information is not a priority because
A. they don't want to learn English.
B. they think that the use of a computer can have a bad influence on their health.
C. they prefer face-to-face communication.
D. they have so many problems in satisfying their physical needs that they don't have time to think about modern technologies.

 8. The term «digital divide» is used to describe
A. the contrast between countries that have information technology and those that don't. 
B people who principally ignore ICT.
C. the regular use of ICT. 
D. any digital device.

 9. The main reason why the United Nations wants the new technology to be spread in developing countries is to
A. let everybody in the world have access to the Internet.
B. improve the exchange of information
C. make local communities, languages and cultures stronger
D. provide the freedom of information in every place of the world.

10. According to the text, one of the challenges of spreading the informational technology is that
A. the spread of technology doesn't obviously mean the growth of working places.
B. the local cultures don't need any support.
C. everybody in the world will have a radio or television
D. the freedom of information is utopia

Text 3 London's Parks
Match choices (A—H) to (11—16). There are three choices you do not need to use.
(11) Regent's Park
Because of an American University nearby this park is host to many games of softball as well as football and cricket. A beautiful rose garden and stunning terraces of houses round the outside. London Zoo is at the top of the park and there's a nice pond.
(12) Coram's Fields
Provides a rare bit of green to King's Cross area. An adjoining children's park has animals and play areas.
(13) Battersea Park
This is a large splendid park, bordering the Thames, it has a pagoda, a boating lake as well as a zoo that's popular with children.
(14) Hyde Park is one of the largest parks in central London and one of the Royal Parks of London, famous for its Speakers' Corner.The park has become a traditional location for mass demonstrations. For the 2012 Summer Olympics, the park   hosted the triathlon and the 10-km open-water swimming events.
(15) Blackheath and Greenwich Park
A trip to Greenwich should be part of every visitor's route. Greenwich Park, with its deer park, rose garden and ancient trees, is a Royal Park and attached to the Queen's House where Queen Elizabeth grew up. A great place for Sundays, when Greenwich market is in full swing. The Old Royal Observatory is at the top of the hill.
In this park
A there are special areas for children to play.
B you can play golf.
C mass demonstrations traditionally take place. 
D you'll find The Old Royal Observatory. 
E you can play different sports and games. 
F there's a bathing area. 
G you can go boating on a lake. 
H rock festivals are usually held.

Text 4 The Silas Lake Park 
The Silas Lake Park reopens today after being closed for six months. The park was closed because mud and rock slides (16) _______ the only access into the park. «We had to remove tons of boulders and rocks», said Hugh Foster — the Head of the Parks and Recreation Department. «Then we had to rebuild a bridge and reconstruct almost a mile of highway. I'm really surprised we got it done so soon».
The park is three miles north of Colfax on Highway 28. Cambridge Road is a two-lane way that winds upward through Pearl Canyon before it falls down to Silas Lake, which has (17) ________ The largest lake in the county, it is also famous for bass. In fact, the record largemouth bass catch in California occurred here in 1975. A 14-year-old boy caught a 19-pound bass.
The lake has two ramps for boaters, a full-service restaurant, a snack bar, a small tackle store, (18)_____   . As with all county parks, no alcohol is sold or permitted. More than 100 picnic tables have protective roofs and big barbecue pits. There are public restrooms with free shower facilities, lots of trash cans, and hiking trails for nature lovers. The west side of the park includes a softball field, a soccer field, and two volleyball courts. Horse-riding and kite-flying are (19)______. In summer, a designated swimming area has a lifeguard on duty seven days a week.
The entry fee is $10 per vehicle and $10 per boat. Reservations are not accepted. The parking lot holds about 500 vehicles; if it is full, (20)______.Latecomers either leave or wait in line for someone to leave the parking lot. Some weekends there are three dozen vehicles waiting in line outside the gate. Because of many requests, park officials soon might start permitting campers (21)______   .
The park is open from dawn to 10 p.m. during summer. «We probably accept here in average 2,000 people every day during summer», said Mr Foster. «They come here to fish, swim, water-ski, jet ski, picnic, commune with Mother Nature, you name it. People love this place».
Choose from (A—H) the one which best fits each space (16—21). There are two choices you do not need to use.
A no additional vehicles are allowed to enter
B and a boat rental facility
C enjoying a music festival
D destroyed part of Cambridge Road
E about 20 miles of shoreline
F to stay overnight on weekends
G a journey through history 
H two other popular activities
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